
 
FB21233 

 

Jeep® JT Gladiator 

Bed Storage Rack 

 

 

2123300 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

REQUIRED TOOLS 
Utility Knife/Scissors 
Rachet  
19MM Socket 
19MM Wrench 
8MM Allen Wrench 
Help of a Friend 
 
Thread Locker 

KIT CONTAINS 
Side Plate (Left & Right) 
Center Plate 
Steel Clamp 
M12 Washer 
M12 Button Head Bolt 
M12 Carriage Bolt 
M12 Hex Bolt 
Foam Pad (Long) 
Foam Pad (Short) 
M12 Lock Washer 
M12 Hex Nut

QTY 
1ea 
1 
2 
16 
6 
4 
4 
2 
2 
14 
10  



 
FB21233 

 

Jeep® JT Gladiator 

Bed Storage Rack 

 

1 
2123300 

1) PREPARE 
Prior to assembly, apply the adhesive foam padding 
to each of the Side Plate brackets.  Flip the plates 
over, exposing the brackets as shown, and apply 
one long and short foam strips to the long and short 
ends of the bracket. 

 
 
Trim away excess foam as needed. 
 

2) ASSEMBLE THE RACK 
The front of the rack is indicated by our signature 
plate on the Center Rack, and the orientation of the 
side plates is indicated by the piranha logo resting 
closest to the vehicle’s cab. [See Below]. 

 
 

 
 

 
 
Using 6 of the included button head bolts, washers, 
lock washers, and hex nuts, loosely assemble the 
Side Plates to the Center Plate.  They will be 
tightened in the last step. 

 
 

SHORT                LONG 



 
FB21233 

 

Jeep® JT Gladiator 

Bed Storage Rack 

 

2 
2123300 

 
 

3) INSTALL THE RACK 
With the help of a friend, lift the Rack onto the bed 
as desired. 

 
 
With a Steel Clamp, 2 carriage bolts, washers, lock 
washers, and hex nuts, insert the bolts into the 
Clamp as shown, and rotate it behind the Rack 
bracket and into place. 

 
 

 
 
Push the Clamp high into the vehicle’s rail, so that it 
grips the plastic, and tighten down the bolts with a 
19mm socket. 

 
 
If your vehicle has a Trail Rail, however, you will 
instead insert the included 4 T-Nuts, two into each 
Rail, and with the included 4 hex bolts, washers, 
and lock washers, secure the Rack’s brackets into 
the Rail. 
 
 
 
 
 
 
 
 
 
 
 
 



 
FB21233 

 

Jeep® JT Gladiator 

Bed Storage Rack 

 

3 
2123300 

4) TIGHTEN DOWN 
With the brackets secured and aligned, secure the 
Center and Side Plates together with an 8mm Allen 
and a 19mm wrench. 

 
 

ENJOY YOUR NEW FISHBONE OFFROAD JT BED 
STORAGE RACK! 

 


